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1 Introduction
In RAN4#107, the Way Forward document was approved [1]. We provide some simulation results of PDSCH requirements for simulation alignment for the Rel-18 work in this contribution.

2 Simulation results
[bookmark: _Hlk95316233]In this chapter we provide some simulation results of PDSCH requirements for simulation alignment.
We have simulated only Multi-DCI transmission schemes for this document including both fully overlapping and non-overlapping modes. Correlation matrix follow agreement from the previous meeting [1]. MCS13 is used in all simulations. Receiver is using joint processing assumption in all simulations.
First, in Figure 1 there are simulation curves of Multi-TRP Multi-DCI fully overlapping scheme with Rank 1. Next, in Figure 2 there are simulation curves of Multi-TRP Multi-DCI fully overlapping scheme with Rank 2. Next, in Figure 3 there are simulation curves of Multi-TRP Multi-DCI non-fully overlapping scheme with Rank 2. Finally, all required SNRs to achieve 70% of maximum throughput are collected into summary Table 1. The simulated cross-talk power ratios ρ are 0dB, -3dB, -6dB, -9dB, -12dB and -15dB. Here, ρ in [dB] is defined as 10·log10(ρ).
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Figure 1: Multi-TRP Multi-DCI fully overlapping Rank 1 with different cross-talk power ratios.
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Figure 2: Multi-TRP Multi-DCI fully overlapping Rank 2 with different cross-talk power ratios.
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Figure 3: Multi-TRP Multi-DCI non-overlapping Rank 2 with different cross-talk power ratios.


	
	Multi-DCI fully overlapping Rank 1
	Multi-DCI fully overlapping Rank 2
	Multi-DCI non overlapping Rank 2

	Cross-talk power -15 dB
	5.5 dB
	12.8 dB
	11.1 dB

	Cross-talk power -12 dB
	5.6 dB
	13.1 dB
	10.7 dB

	Cross-talk power -9 dB
	5.7 dB
	13.4 dB
	10.1 dB

	Cross-talk power -6 dB
	5.9 dB
	13.8 dB
	9.6 dB

	Cross-talk power -3 dB
	6.1 dB
	14.0 dB
	9.1 dB

	Cross-talk power 0 dB
	6.1 dB
	14.1 dB
	9.0 dB



Table 1: Simulation result collection showing SNR needed to achieve 70% of maximum throughput.

From simulation results collection in Table 1, we can do following observations:
Observation #1: In Multi-DCI fully overlapping scheme higher cross-talk increases inter-layer interference.
Observation #2: In Multi-DCI non-overlapping scheme higher cross-talk increases diversity gain.




3 Conclusion
In this paper we provided simulation results on the PDSCH requirements of FR2 multipanel RX downlink demodulation requirements for performance alignment. The following observations and proposals are made:
Observation #1: In Multi-DCI fully overlapping scheme higher cross-talk increases inter-layer interference.
Observation #2: In Multi-DCI non-overlapping scheme higher cross-talk increases diversity gain.
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